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® 3a @ x-3
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3ax? — 6ax — 9a = 3a(x* - 2x - 3)
=3a(x-3)(x+1)
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® ma+mb—-m=m(a+b)
@)644? + 32ab + 4b* = (8a + 2b)°
® —4a® + 9b> = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x-2)(x-3)

© 2x% = 5xy + 3y* = (x = 3y)(2x -~ y)
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O ma+mb-—m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x%-5x-6=(x—-6)(x+1)
® 2x® - 5xy + 3y* = (2x - 3y)(x ~)
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® A=64,B=230 @ A=4+64,B=+30
@A:64,B:130 @ A=+64,B=230

® A=64,B==15
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x2+16x+A=x+2x8x+8% = (x+8)°
L A=064

9x2 + Bxy + 25y?

= (3x)2 £2 X (3x) x (5y) + (5v)2 = (3x = 5)?
.. B =30
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— (-5) X (-8) = (-2)x (20
= (-1) x (-40) = (-4) x (-10)
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> Het: A-BC=0

(2x + 3y) (Bx+ Cy)

= 2Bx? + (2C + 3B) xy + 3Cy?
= 6x% 4 17xy + Ay?

9B—=6, B=3

2C+3B=17, C =4
A=3C, A=12

L A-BC=12-3%x4=0
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5 oA x2 —3x -4 2 242 —11x + 12 ¢

® x-1 @)x-14

@ 2x-3 ® 2x+3

¥ =-3x-4=(x-4)(x+1)
232 —1lx+12 = (2x - 3) (x—4)
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D 80 @)100 ® 120 @ 140

® 160

1.23(552 — 452) = 1.23 x 100

~[_]=100
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@ 22 +x-1=2x+1)(x-1)
© 4x* -y = (2x +y) (2x-)
© a®*+2ab+b*—a-b=(a+b-1)(a+b)

@ 40 +4x+1=(2x-1)
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@22 +x-1=2x-1)(x+1)
@4 +4x+1=(2x+1)°
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> ®ME: A+rB=4
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2x2 +5x+A = (x+ B)(2x+ 3)
2B+3=5 ..B=1,

A=3B ..A=3

LA+B=4




13.

o]xFAl x2 + Ax + B & 14 £
A5 Hof (x+4) (x+3) ©] HA, BXlol=
(x+1) (x+7) o] =3t tha &
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@D@+2)(x+6) @ (x+1)(x+6) O (x-2)(x—6)
@ (x-1)(x-6) ® (x+3)(x+4)

FAolE 2 4 Tx + 12 oA A5 12 & HA H,
Aol x® +8x+ 7 A x o A 8 & WA BTt
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@(x+y+3)2 @ (x+y-3)?
® (x-y-3)2 @ (x+y+3)(x+y-13)

® (x+y+3)(x-y-3)
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x+y=A & X5

(£4) =AA+6)+9
=A%+ 6A+9=(A+3)?
= (x+y+3)?




x-y=A & A8stH
(x=y)(x-y+6)+9=A(A+6)+9
=A%+6A+9
=(A+3)°
= (x—y+3)°
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X2 —dxy + 4y? + 2x — 4y — 15 & AFE8|51H?

@® (x—2y+3)(x—2y-5) @ (x+2y+3)(x+2y-5)
® (x—2y-3)(x+2y+5) @ (x+2y+3)(x+2y+5)
(@)(x—2y—3)(x—2y+5)

B

(x® —dxy +4y?) + 2x -4y - 15
=(x-2)%4+2(x-2y)-15
=A%2+24A-15=(A-3)(A+5)
=(x-2y-3)(x—2y+5)
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®© x+y-4 @ x-2y+4 @ x+2y+2

@x+y+4 ® x+4y+2

-y +4(x-y) =(x+y)(x-y) +4(x-y)
=(x+y+4)(x-y)




19. 4x% - 24xy + 362 — 16 & F 432 o7
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(—,7._‘—/:}) :4(x2—6xy+9y2) - 16
=4(x-3y)*-16
= (2x-6y+4) (2x— 6y —4)

© (2x=6y+4)+ (2x—6y—4) = 4x— 12y




20. x+y=5, xy=—-4 L], (x-y)? o] g Fotoiet,

> E:

> =g 1
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(x=y)% = (x+)* - dxy
=52 —4x(-4)
=25+ 16
=41
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thg £7& ol gste] 2 +y2 2 Tatelet,

Q@ xy=

© 3x+3y+x%y+ x> =36
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3x+ 3y + x%y + xy? = 36

3(x+y) +xy(x+y) =36

(x +)(3 + xy) = 36l A]

xy =6°] B2 x +y=40]|c}.

Loxt 4yt = (x4y)? - 20y
=4%2-2x6
=16-12=14




22. la. b, = (a=b)la=c)F & W, [a, b, |- [b, a, ] AW,
(xa+yb+zc)(pa+gb+re) oItk Ol W, x+y+z+p+q+r 9
A0

@ -1 @ 3 (@)0 @ 2 © -2

B

(a=b)la-c)—(b—a)(b-rc)
=(a=-b)(a=c)+ (a-b)(b-c)
=(a=-b){(a-c)+(b-c)}
=(a-b)(a+b-2c)
SLx+ytz+ptqgtr
=14+(-1)4+0+1+1+(-2)=0




23. 16x*-81y! = (Ax*+By*)(Cx+Dy)(Ex+Fy) &t & W, A+ B+C+
D+E+F o #& Fstof=t (2 A, B, C, D, E, F £ 7%°Ith)
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16x* — 81yt = (4x% + 9y?)(2x + 3y)(2x — 3y) ©|B2 A+ B +
C+D+E+F=4+94+2+3+2-3=17°|ch
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@ x @y ® x+y

AtZ+¥ ABFE, EGHD & At go|nz

B2 AZFR 9] HolE (2y - x)(x - ) °let
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25. ab+betca=at+b+c D, 2+ o429 g Fatolet (7,
abc #0)
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ab + bc+ ca = a® + b% + 2
a+b2+c?2—ab-bc—ca=0

(@b 4 b=+ (c-a)?} =0

oltf g, b, c = AFTO|EE
a=b=c
b ¢

a
-+ -+-=3
a+b+c




